I - 2016/8/21 R
B4
Rse 24 Korilie iz L LR
FEMESL [ RMEEAN Kok B s Rt 4h
B £+ fEH 1fL 3L 5L 6hL ™ 8hL
—gwter|sotn | 100m MER Bk w12.73 (+2.8)|NHE #HF w12.82 (+2.8)| R IE w12.87 (+2.8)| %% B ¥ wi3.13 (+2.8)|Fi& &R wi13.35 (+2.4)|HH ESH w13.38 (+2.8)|lUAX HEH w13.49 (+2.3)|FFE EBX w13.66 (+2.8)

KSAC ROWHES Ko b= RFFBRES RAEHES Kofim b=

shom | 200m WA ¥ 26.91 (+0.8)|HE E&E 27.74 (+0.8)|F & £H 28.12 (+0.8)| N & 28.64 (+0.8)
ROWHES b= AFERES AFEWL-AFRAES

ariz1m | 400m B EaM 1.0353|!RE <BH 1:0557|F% HHL 1:05.79|AIL 1&F 1:08.00|HH KX 1:08.29i%:8 EK 1:08.71|#K XEH 1:08.83|/1\8F &% 1:09.29
&R EIHES EaBHE ROWHES = = KO LHES RO BB b=

ariz1m | soom In s=EfE 228 11|RE <BH 2:30.14(/NBp &% 2:36.55|RKk F5fE 2:39.38|/BHF &= 2:42.00|NLL 1&F 2:4246|1EK BE 2:4560|hiE X 2:41.11
KO LBHES EaBHE b= EaBEE ERS XoE ROWHES RIDRES

anorn | 2000m MR BF 11:48.14|RE ERF 11:57.55|F4f B 12:1068|1FF R 12:51.02|3R A 15 13:05.19|&F &HH 13:45.68
KO LBHES b ] KO LEBES ERE RKOMHAES AFBRES
=i Bx 17.43 (+2.0)| 78R VA 19.87 (+2.0)

8H21H | 100mH
RO EES ROWHES
K- EREH 51.41| K& 53.62| KD LBFES 56.08| B 58.78
LA #hiE HE ER BR BiE —H FEik

8H21H | 4x100mR |5t TS EHH EXx IRA BAEASE INE R
CHE &5 WHE K& EE EK BE RS
miE o ML 1&F mEE BT BH =

saaip | e | DR 155\ R 150/ A B 140[ TR B 13510 Bk 125\ A W 120
ERKE RO EES X LtHES AFERES ki EaisEE

T . =t ¥ 5.58 (+0.9)| =4l &X w5.04 (+3.4)|[BK EiE w4.50 (+2.4)|/NE  #iE wa.24 (+2.9)| %8 VY wa.05 (+2.1)|F 7 RLF 3.79 (+1.9)|NEA BEF w3.21 (+2.2)
ERKE RO EES X LtHES ERE ROMHES ROBIEE b=

saoe | e EHH & 8.33| LA =i 7.16
b= RORBER
(1] 30.11|mEHE H 37.25|HIG BHF 33.23|1EEF HIK 28.65|5H 26.59

8H2IH| v
ROERFE Rofim RO BEES X LtHES =

st | sonn | 100m ik Y 12.77 F1.D|AE 2H 1287 +1.D| KR BS 13.09 (+1.D)|ixFH EF 13.22 (H1.7)|¥EME BX 1329 H1.D|CHB T5 13.36 (+1.7)| WU #hthiE 13.37 (H1. DA 155 w13.48 (+2.1)

Ry -EEH K5 -BHEH Ry / i Ry -ERH K& -k/hep K- ERH Ry -EEH K5 -FEEE

sizte | 200m Ik w26.51 (+2.1)|;i % ZF] w27.13 2. D[IZE EH w27.61 (+2.1)| 3% Ex 2809 (+1.2)|IR EH w28.12 (+2.1)|4EB& LIF w2817 (+2. DI FF] w28.28 (+2.)|FHE BF w28.82 (+2.4)
Ry -EEH K5 -BHEH Ry -ERH Ry / e K& -k/hep K5 -KHH Ry - Ko Ao -/hep

shote | soom NE 7 2:33.33|#kH ME 2:3457|B% FiF 2:3785[i8 8 EXE 2:39.79|HEK K 2:40.03|#ER 3 2:42.86|WF Bx 2:43.84|5EH # 2:44.73
Ky L&y R Ry -/ Ko -/hep R -/hep K5 - KHHEH Ko/ h Ry -t/ K5 - BB

si21m | 3000m wRHF M= 11:14.53| R =R 11:16.23|#RF BHE 11:19.97[[B8 =% 11:21.04|B% FiF 11:24.70|01E8 K& 11:32.51|B EBKRF 11:3345|h £ =7t 11:37.24
Ao -/hep FREE-#F5Em R -/hep R -/hep K& -k/hep Koy -ERH Ry -t/ Ry EEF

sizia | 10omn =8 H%E w16.36 (+2.1)|FxHA HR wi17.45 +2.1)|E3 %= wi8.61 (+2.1)[#EIL Bk wig72 21|z @ w19.70 2. 1) | 1EER EE 20.64 (+1.8)| == =z 2077 (1.8)|AEH Hk 2129 (+1.8)
K5 -FEEFEH K5 -BHEH Ky Ly Ky LBy K& -k/hep K5 - BB+ Ky L&y R |- EsT
K5 - B 53.88| K% - A 56.73| BIFF - LLDF 56.76| K53+ /i 57.84| K5 - HEH 59.01| K4y - fEEHR 59.12| K53 - #B I b 1:00.93|{& 18 - Ef&H 1:02.28
#ZFHE DE TE BE & 1B2E% KR DR BAR £E hE mE BIRE # B oEh

8H21H | 4x100mR |+ A BR BEx JKFE FIF BN TR B &F Hd Bx & BBZE INE B
—R it ZL BB &8 BF B+ phE =5 MAE 0 BE iR = #E KT
AE R “E T= Rk BEHE wl XKE HAEH &K Fih i el #ie HFX UMD

saoe | s &5l BF 145(BR HE 140|4% &F 1.35|7RIE  BNAR 1.30(#0H KF 1.15
B AF - AL &R A &8 ElsTF Ry /mie K5 - &a-EgT

saoth | e =8 H%E 455 (+1.7)|EM A& 440 (F1.2)|HE W= 4.31 (+1.5)|E& DOEH 417 (+0.9)|HEH WEE 415 +1.1)|EE AR 405 (+18)|BmE B 3.90 +0.9)|#E 3.65 (+2.0)
X5 -FEEF K5 -BHEH BIFF-EAAH &8 ElgTF R -k/hiep K& -k/hiep Ry -EEH K5 - BB

shote | maus BHF —F 8.76|5H #& 724|875 BAME 6.89|f8 8 ER 6.77|BBA —F1E 6.68|IEER REE 6.20)/hL Yh 5.73|F#E HEJ 5.05
ER-EIHET &8 s &8 ElmTF &8 ElgTF K5 -BAEH K5 -BAEH R KRR Ky LHyr R

w (wind assist) : IBJEZ%E




